PART NO. REVISIONS
D URATOO L ECN# | REV DESCRIPTION DRAWN | DATE |[CHECKD| DATE | APPRVD | DATE
DTRHTSA-M3-10-1 - 1.0 RELEASED SN [17/03/15] ER  [17/03/15| ER  [17/03/15
A/F
Specifications: . .Description . Size L1 Part Number
] o Aluminium Spacer F/F High | M3x30 7 DTRHTSA-M3-30-1
Material + Aluminium Aluminium Spacer F/F High | M4x10 | 10 | DTRHTSA-M4-10-1
/\ AJF Dims. Aluminium Spacer F/F High | M4x15 | 15 | DTRHTSA-M4-15-1
Thread | A/F Aluminium Spacer F/F High | M4x20 9 DTRHTSA-M4-20-1
o o M3 6mm Aluminium Spacer F/F High | M4x25 9 DTRHTSA-M4-25-1
! M4 7mm Aluminium Spacer F/F High | M6x10 10 DTRHTSA-M6-10-1
\/ M6 10mm Aluminium Spacer F/F High | M6x15 15 | DTRHTSA-M6-15-1
L Aluminium Spacer F/F High | M6x20 | 10 | DTRHTSA-M6-20-1
Aluminium Spacer F/F High | M6x25 12 DTRHTSA-M6-25-1
Aluminium Spacer F/F High | M6x30 | 12 | DTRHTSA-M6-30-1
Aluminium Spacer M/F High | M3x10 [ 10 | DTRHTSA-M3-10-2
Aluminium Spacer M/F High | M3x15 7 DTRHTSA-M3-15-2
. / Aluminium Spacer M/F High | M3x20 7 DTRHTSA-M3-20-2
] % _ _ _ _ \ ] Aluminium Spacer M/F High | M3x25 | 7 | DTRHTSA-M3-25-2
Aluminium Spacer M/F High | M3x30 7 DTRHTSA-M3-30-2
Aluminium Spacer M/F High | M4x10 | 10 | DTRHTSA-M4-10-2
0 U Aluminium Spacer M/F High | M4x15 15 | DTRHTSA-M4-15-2
Aluminium Spacer M/F High | M4x20 9 DTRHTSA-M4-20-2
Aluminium Spacer M/F High | M4x25 9 DTRHTSA-M4-25-2
Part Number Table Aluminium Spacer M/F High | M4x38 | 9 | DTRHTSA-M4-30-2
Description Size L1 Part Number Aluminium Spacer M/F High | M6x10 | 10 | DTRHTSA-M6-10-2
Aluminium Spacer F/F High | M3x10 | 10 | DTRHTSA-M3-10-1 Aluminium Spacer M/F High | M6x15 | 15 | DTRHTSA-M6-15-2
Aluminium Spacer F/F High | M3x15 DTRHTSA-M3-15-1 Aluminium Spacer M/F High | M6x20 | 10 | DTRHTSA-M6-20-2
Aluminium Spacer F/F High [ M3x20 DTRHTSA-M3-20-1 Aluminium Spacer M/F High | M6x25 | 12 | DTRHTSA-M6-25-2
Aluminium Spacer F/F High | M3x25 DTRHTSA-M3-25-1 Aluminium Spacer M/F High | M6x30 12 DTRHTSA-M6-30-2
Dimensions : Millimetres
Important Notice : This data sheet and s contents (the ‘Information’) belong to the members of the | TO| ERANCES: DRAWN BY: DATE: DRAWING TITLE:
Eﬁ?;?iﬁin’"fi'l %’%?%255@’?Efp”cliiéﬁ'f;;‘i'n"e“&gnf’ 'w?{heJA?S?S&L‘Q‘m”ﬁ#i?”f?é&i?”ﬁf iconce of any SN 17/03/15 Aluminium Spacer
Gt aneets pevioLs supplicd Th Inormation supplied s beteved to b acourate bt tne Group assumes | UNLESS OTHERWISE CHECKED BY: DATE:
I oy o b sty o conpelnes, s ) o s oo e e .| SPECIFIED, SIZE | DWG NO. FLECTRONIC FILe RV
their purpose and not make any assumptions based on information included or omitted. Liabilty for loss or | DIMENSIONS ARE ER 17/03/15 | A4 DTRHTSA-M3-10-1-02 DTRHTSA 1.0
DURATOOL is the registered trademark of the Group. © Premier Famell plc 2012. ' ER 17/03/15 ' I '




